Which of the following types of competence is the ahility to recognize and produce the distinctive grammatical

structures of a language?
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Which of the following is a form of language loss that affects the speaker’s ahility to produce their native
language with their native accent?
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Which of the following types of competence is the ability to interpret the social meaning of the choice of linguistic
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Linguistic hegemony is achieved when dominant groups create a consensus by others to accept their
language norms.
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Who among the following says: “Language planning is usually seen as an explicit choice among alternatives"?
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Bachman's grammatical competence is consonant with Canale and 's grammatical competence.

Select the cormrec! option ® Reload Math Equations
Bachman
O
Confirm
Swain
O
Hymes
e y
0O Chomsky



Quastion # 10 of 10 ( Start time: 01:21:15 PM, 12 Augu=t 2021) Total Marks:

Who among the following sayvs: Language planning Is “the organized pursuit of solutions to
language problems™?
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Which of the following types of linguistic transfers considers all of the previously known
languages to play an equally important role?
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Which of the following is a form of language loss that affects the speaker’s ability to produce
their native language with their native accent?
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Who among the following says: Language planning is “an attempt to interfere
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Language planning can create as many problems as it intends or claims to
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Planners deal with issues that affect organizations and societies (or polities) in which hbuman
beings
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Which of the following is a form of language loss that affects the speaker's ahility to produce their native
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